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Where:
4 Ng = ground flash density in units of
# flashes per km?2 per year
4 T = thunderstorm days per year
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Three common relationships are:

o N =N9(28h°'°+b)

@ N, =0.012T(b+ 4h™%)

(3 N =0.004T"%(b+ 4h™%%)
Where:

@ N_ = number of flashes to a line per 100 km
per year

4 N, = ground flash density in units of #
flashes per km? per year

4 T = thunderstorm days per year

4 h = tower height in units of meters

4 b = overhead ground wire (GW) separation
distance in units of meters (=0 if single GW)



